S5 1 2H8H
H s I
EHEEEMKEYDOE=R)VTRAEER
TEE - REHER

No | BIEH K4 IR % KieE | BEEES YA BEEES YL
134(Bq/kg) 137(Bq/kg)

N = BmHEINT mHEng

1 12A1H AL AFH 118278 <5.0) <5.0)
= BRHEINT ey

3 | 12B81R LXB4 F&M 118228 *ﬁ(&(f;()“f 6.1
= mHsnhg mEEnT

4 | 12A1H L3 AR 11A228 (<3.9) (<3.4)
®mHEhT mHIng

5 12A1H LF34H +F@E™H 118168 <41) <3.2)
BmHEhT mHEIng

6 | 12818 LxAB4 +#A™H 118168 <3.5) <3.4)

7 1281H L34 +FETH 118228 iﬁ.ﬁig}? 55
_ BmHEhd mHEng

8 | 12818 T334 +FET 118228 <4.6) <45)

9 | 1281H 1) 34 +FE 118228 *ﬁt('j(f;?? 6.2

1) PER SR 37 L~ =0 AHE IR N g 2 L R B CHIlE,
{E2) R H R FUYEE BRA RS RO T Bl (KO) LRt




